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3.Find y'if y=sin’ [;tEJ
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6.Find y'if x+yJ1+2x= 2xcasy
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7. Sketch the graph of f that satisfies the condition

fO==2  f@)=2

f(0)=0  £'(2) undefined
f'(x)y>0 if 0<x<2
f(x)<0 if x<Oorx>2

f(x)>0 for x<2orx>2
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8. Find y'if y=(Inx)™*
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9. Find the absolute extrema for the function f(x)= Ll in (=1.5)
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11. A particle moves in straight line so that its distance s from the starting point is

s(ii = ir" — 41 +1617 .Then find the time when both distance and velocity are 0.
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12.If y =x" +x* —2x+1 and x changes from 2 to 2.1, find Ay and dy

A){-: O-‘

fon+ D) - Fon) L A=l

I . T e
(I-%Bx) L (U + D) -?(;(4./:“() i §
| -f_l\,,-fl(?.)

3 R
(21) + @) _a(2) APy
.16 y WUl o T - .
= ). @ 7
— I;('z+ 24 - 2
('g vcnt+‘l%r1) A X
- o L
[(4)—»1(1)-11@3.\ -
i *-rr{g ¢ a.\)

1
® o= A U

¥



T e
13. Find ¢ promised by Mean Value Theorem for f(x)=1+ §x3 *1in [0,16].
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14. Given T (/) = 2x/I/ g where g s a constant, using differentials to approximate the change in /,
if T'is increased by 1% then find the increases inl.
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15. When approximating ¥1.1 with x, =1 using Local linear approximation Find 1.1 =
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16. When approximating /1.1 with x, =1 using Newton method (one iteration) Find Nl
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17. The area of an equilateral triangle is increasing at the rate of 25 m’ / hour . Find
the rate of the sides when the side is 70m.
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18. Sketch the Graph of the function f(x)=1+ %xm Is there s a cusp? (o abays P25
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19. Find the shortest distance between the point (4.0) and the curve y = /4x -3 .
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20. Find the values of &,k in the function

f(x)z{x+h x<(

to be differentiable at x=0.
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